Bitpass

beyond myself

HTTP://WWW.SHHUITONG.NET E-mail: sales@shhuitong.net

PLANETARY GEAR BOX

HTBZE %I
SR ETEIRIEY



1= 5/
PRI 52
PRECISION

IN

MOTION

FAE AT B A SRR AL, SRS TEZESE . RIKERREE (37 ) ;& HsE;
ERER (96%) 5 MEALIA; 22FEGEELi=3, ..., 512; {KMETF (K65dB(A )) RN E 223, iy %) B3R
KGN AMEJR~T40, 60, 80, 120, 160mm; 5 2 1EE 77 .

FEEITERARRIETHI R 5 it

|1 =% =%

N

DN =

N

w

N

4.
55

AR

RETAT B AR AR A 5 AL i 5, Tori e, A B NUHR AR S N (R LA, 37 BRI R .
RETAT B AR R A N B RO AN, TER RSO, P ER IR, K.

v BRI T

W EAUAL, HHLES I, AR, AR BT R MUSEBR L. WA, UASAT
HEE R SRR OB ILT, SRS L, FHER ST ORRNEBA B 0T O (N ECRERES, FUEHE .
A, R REERA S L

SERBEA (SRR o GBI CSURED) b ISERRERIEN 2 0 FIRRTL.

HEBAL R M ATLEE A CnRAHUA LA R, SR, JPREMANER T D | B AURT SHE R L5 2

Mo

6+
IS

\10’30"%@\2[\37—‘“10

SR SRR S FIRRE R, ERNFREETRE, DT R .
RE B (R SRR, REJCREE D JWGBHT R E N R i, BT E) , Sk, &aka s
A -RAER, W RATED .

+ IEHEA N4

v ARV A A AU SOVFIRLEE . SR VR AN S VR P9 A

+ AEH AT AU A BTG R 2 R R TR R, BRA A (BRI B R 1 K .

v AR SLT . BT ERTARAT .

- IfEh, MERSHERERI, FEHEW, LERM, 0F, MEVILAE.

~ SRR AR E TR, Al — 2. (EHRAEAR RS R R

~ HRG AEZE . BN TSE, ARG AR S BRI, BRI SE AR I
v 24N S TR, UFBR SR AT



HTB &R 51 itiEH]
HTB SERIES GEAR BOX

W 313N E Sectional Drawing

@ %M Output shaft

@ iHES 0il seal

G HiHihBhA Output shaft front bearing
@ 1724 Planetary gear

® APFE%S Solar wheel

® i#ET4m7E Full needle bearing

@ HiiE= Front cover

i H4M/S%M7& Output shaft rear bearing
©® jHES Oil seal

@© EX§MBS Coupling

@ PHEIR Lock ring

© J5E= rear cover

P03

B E5S. HEIRIREE Type And Model Number

HTBIRZEAL HTB Reducers \ {RIRREEA, Servo Motor

090 HTB 20 () (S) - 750 T1 [

©» @ ® @ ®& ® © ®

@ FEHALEES 090 E4RIIP04 Gear head frame size:090
@  RERINLS: HTB Gear head series code: HTB
® ImiEE:20 BRIIPO4 Gear Ratio: Single Stage 20,(P04)
@ #BE BRIP4 Amount of backlash, (P04)
TREBIP2(EE) FEEEP1 RIS EELP0 Standard type P2 precision P1 high precision PO
SIS T E AR AR £ 5% HHE precision (the load of output shaft is+5% of allowable output torque)
® NGB Input shaft type
S BRI (BRI DAREEEIEEAEA |, B'D"FEANEM) S:Over locking(Omission)(regardless whether the motor with keyway can use it.But D Cut can't use)
SIS X (T DIARE B 2EEraI T |, {B'D"=F8URNER)  StiLocking with locking ring(regardless whether the motor with keyway can use it But D Cut can't use)
ST EBME CMNETEE) S2:Locking with keyway (input shaft with key)
K K:With keyway
AEUEIEF RS (B S ANTHKER) A:Other type (please contact with us)
® ERARDEEW) Applicable servo motor power (W)
@ (ARSAI REFR(P11~P12) Manufacturer name of servo motor (P11~P12)
(FIRSIATLS Model of servo motor




= e iiis
PRODUCT SPECIFICATIONS

W REH TS ¥} Reducer Performance Data

g B Aot !
Specifications Node Number Reduction Ratio OGORTS: ({0O0(AYIS: VOSORTS. |G<0IOKEE | 1T5HER L 1O0ERE | 220hED
3 55 - 130 - 208 342 588 1140
4 50 z 140 = 290 542 1050 1700
5 60 . 160 - 330 650 1200 2000
. 6 55 = 150 s 310 600 1100 1900
7 50 = 140 = 300 550 1100 1800
8 45 - 120 - 260 500 1000 1600
9 40 2 100 s 230 450 900 1500
10 40 z 100 - 230 450 900 1500
15 55 55 130 130 208 342 588 1140
20 50 50 140 140 290 542 1050 1700
BUEEEE T, Nm 25 60 60 160 160 330 650 1200 2000
30 55 55 150 150 310 600 1100 1900
35 50 50 140 140 300 550 1100 1800
40 45 45 120 120 260 500 1000 1600
2 45 40 40 100 100 230 450 900 1500
50 60 60 160 160 330 650 1200 2000
60 55 55 150 150 310 600 1100 1900
70 50 50 140 140 300 550 1100 1800
80 45 45 120 120 260 500 1000 1600
90 40 40 100 100 230 450 900 1500
100 40 40 100 100 230 450 900 1500
SEHE T, Nm 1,2 3~100 EEERI
EUERNDE n,y rpm 7 3~100 5000 5000 4000 4000 4000 3000 3000 2000
BAUINEE® n,, rpm 12 3~100 10000 10000 8000 8000 8000 6000 6000 4000
) 1 3~10 - = B - <1 <1 <1 <1
ERSEERIEE PO | arcmin 7 15~100 = - = - <3 <3 <3 <3
- . 1 3~10 <3 - <3 5 <3 <3 <3 <3
FREERISE P1 aremin 2 15~100 - <5 <5 <5 <5 <5 <5 <5
= ) 1 3~10 <5 : <5 : <5 <5 <5 <5
PRAEEIRIRE P2 aremin 2 15~100 - <7 <7 <1 <1 <7 <1 <1
THEERIME Nm/arcmin 1,2 3~100 7 7 14 14 25 50 145 225
BIFRAES Fy N 7 3~100 1530 1530 3250 3250 6700 9400 14500 50000
BUYFHES Fyy N 1,2 3~100 765 765 1625 1625 3350 4700 7250 25000
FERED hr T2 3~100 20000"
» o 1 3~10 >97%
BN i 2 15~100 294%
1 3~10 1.3 = 37 : 78 145 29 48
BT ko 2 15~100 1.5 1.9 4.1 5.3 9 17.5 33 60
FERERE °C 1,2 3~100 -10°C~+90°C
e 17 3~100 B ki HiE
FHPER 1,2 3~100 IP65
e Al 12 3~100 EFEAR
=z,
?ﬁifﬁlgiﬁ%ﬁ\ﬁ ) 9B 12 3~100 <58 <60 <60 <63 <63 <65 <67 <70

W RLEL ST 1R = Moment Of Inertia Of The Reducer

& RE IRRERLY,
Specifications Node Number Reduction Ratio (GRS (OGO(IEEIN) SOSORS Y (CS0(IETR) iR L2 JLEUES CAE
3 0.16 - 0.61 : 3.25 9.21 28.98 69.61
4 0.14 - 0.48 . 2.74 71.54 23.67 54.37
5 0.13 - 0.47 : 20 7.42 23.29 53.27
; 6 0.13 . 0.45 . 2.65 7.25 22.75 51.72
7 0.13 - 0.45 - 2.62 7.14 2248 50.97
8 0.13 : 0.44 . 2.58 7.07 22.59 50.84
9 0.13 - 0.44 : 257 7.04 2253 50.63
10 0.13 - 0.44 g 2.57 7.03 22.51 50.56
15 0.03 0.13 0.13 0.47 0.47 2.71 7.42 23.29
20 0.03 0.13 0.13 0.47 0.47 2.71 7.42 23.29
iR J, Kg-cm® 25 0.03 0.13 0.13 0.47 0.47 2.71 7.42 23.29
30 0.03 0.13 0.13 0.47 0.47 2.71 7.42 23.29
35 0.03 0.13 0.13 047 0.47 2.71 7.42 23.29
40 0.03 0.13 0.13 0.47 0.47 2.71 7.42 23.29
2 45 0.03 0.13 0.13 0.47 0.47 2.71 7.42 23.29
50 0.03 0.13 0.13 0.44 0.44 257 7.03 22,51
60 0.03 0.13 0.13 0.44 0.44 257 7.03 22,51
70 0.03 0.13 0.13 0.44 0.44 257 7.03 22.51
80 0.03 0.13 0.13 0.44 0.44 257 7.03 22.51
90 0.03 0.13 0.13 0.44 0.44 257 7.03 22.51
100 0.03 0.13 0.13 0.44 0.44 257 7.03 22,51
1R (i=N /N,.) 2 B ANNEIIFET,,=60% of T,y 3 EEE00rpmBY |, (FRTFEEHMEPOAIE.

“ELIEYE |, (EFE®/910000hrs



, R (8%, miELk i=3~10)

DIMENSIONS(SINGLE SEGMENT, REDUCTION RATIO i=3~10)

B R~ & Dimensional Drawing

i Output co B Input
c8 L8 12
o
D08 B I 13
- L] 1z
C5 |16
g & gte
IR 618
iﬁ;@II
c4
2 .
= D5;%(depth)L9
H1
M RT3 Dimensional Table [E47:mm]

RFSize 060HTB 090HTB 115HTB 142HTB 180HTB 220HTB
D1 70 100 130 165 215 250
D2 5.5 6.6 9 1 13 17
D3 16 2 32 40 55 75
D4 50 80 110 130 160 180
D5 M5x0.8P M8x1.25P M12x1.75P M16x2P M20x2.5P M20x2.5P
D6 80 116 152 185 240 292
L1 60 90 115 142 180 220
L2 37 48 65 97 105 138
13 7 10 12 15 20 30
L4 28 36 51 79 82 105
L5 25 32 40 70 70 90
L6 2 3 5 4 6 7
7 6 8 10 15 20 25
L8 65.5 78 1015 1195 154 163.5
L9 125 19 28 36 02 2
cl 70 100 130 165 215 235
c2 M5x0.8P M6x 1P M8x1.25P M10x1.5P M12x1.75P M12x1.75P
c3 “<14/<16 <19/<24 <32 <38 <48 <55
c4 35 405 51 60 85 116
C5a 50 80 110 130 180 200
c6 8 4 5 6 6 6
c7 60 90 115 142 190 220
cs 195 175 20 225 29 63
co 122 1435 186.5 239 288 364.5
Bl 5 6 10 12 16 20
H1 18 245 35 3 59 79.5

*060HTB5, 10 iR L IR $C3< 167 i,



’ R~ (%, miELL i=15~100)
DIMENSIONS(DOUBLR, REDUCTION RATIO i=15~100)

M R < B Dimensional Drawing

c9
1 Output - - - BN Input
B . 13
- 0er
— i 5 | L6 %—3 "
2 82 N
=34 615 &% N
= U e
cé H 4-C2 dC1
ca 1
co 060HTB/030AHTB
C8 L8 L2
T gcr
%l ; D5;%(depth)L9 1 IE; 5 g = <-d<\ .
i =4 : W),
| ] A S
H 3 Q
6! . : ac2 @ci
B R~J % Dimensional Table [ fzmm]
RFSize 060AHTB 090HTB 090AHTB 115HTB 142HTB 180HTB 220HTB
D1 70 100 130 165 215 250
D2 55 6.6 9 1 13 17
D3re 16 22 32 40 55 75
D4 w 50 80 110 130 160 180
D5 M5x0.8P MB8x1.25P M12x1.75P M16x2P M20x2.5P M20x2.5P
D6 80 116 152 185 240 292
L1 60 90 115 142 180 220
L2 37 48 65 97 105 138
13 7 10 12 15 20 30
L4 28 36 51 79 82 105
L5 25 32 40 70 70 90
L6 2 3 5 4 6 7
7 6 8 10 15 20 25
L8 1025 116 126 143 169.5 2075 246
L9 125 19 28 36 2 42
c1 70 70 100 100 130 165 215
c2 M5x0.8P M5x0.8P M6x1P M6x 1P MB8x1.25P M10x1.5P M12x1.75P
c3 <14/<16 <14/<15875/<16|  <19/<24 <19/<24 <32 <38 <48
ca 35 35 405 40 50 60 85
C5ee 50 50 80 80 110 130 180
c6 8 8 4 4 5 6 6
c7 60 60 90 90 115 142 190
cs 195 195 175 175 125 225 29
co 159 183.5 191.5 225.5 2835 335 409
Blw 5 6 10 12 16 20
H1 18 245 35 43 59 795




RIARBIERR I AR TEFIE X :

I AARBHES: B TRE SRS EN, MR ESIEE R sl
VA, DMEBIE R X SR A A AR o ISR B AR
—RCR T B RIS, AR AR AR, sk
bk

2+ UL s FE 1 RS AR A A S A B L

3y FHC RAIBES NI EE. BA— BRI s SR
LIRSS, B B R IR0 A N SRR A o RIS
A =BG RIS SR =80 25

4 ZEHNEE: ARSI EZAPREST, MWW AR A
FiA 28 R A R RS L R TR A2 09) i A\t A o (A 4% £
AR RZE A . AR M AIR A (SFL) [E—TTRIRERER, fathas
Bl (BRFL) AEITER: , TS — A AN, JXBH S M R
JEAE, EMCNZENGE . BAAS, (05T UE) |, BN,
[FZE. ==l = AR A A

5. NG RMAMGEIE S EAUE MEAPRAS T, R 89 (iRt
IS EE SRR AR AR S5 A R R SR RIVE T R RO A
ST HH 2 ) Y o 7 25 A JE R, S BRI 28 25 1) S R e A R
WEEMRAEME, ENEINEE, B, (03FTLE) -

6+ ARUESN HATSE : AR AR A AR T — R . IR A A
TERUE NN, R IEIg0s A5 A AR i /K Fo i P I oK L
o BAIAAK (N.m)

7~ ARFRILSE: 50 AR ISR RE T R 7R A2 R S KH A, 2 (0 R R Dt Y
BUBREEAL)™ AR TE AR, SBARERIIGFE. B4k (Nm) o AN
IR S5

8« ZSEERHSIAE: IRMAMRIBHE 2T, IR B SRS, RS
BEANTERORAS TR AR MG, & SONS M 5. BRIk (
N.m)

9y Behtiit: RMAMEIEES A S SRR, HTR IR AU B 4

BEESHF 7 BOAR, R A AR R 2 A BE RN R IE M B — D B AR

] R Uk i A MR F B IR Y — D TR BT 3Py K
(kg.cm®)

10~ FHEERIE: $RMEMRBGES EOUE M AETE R P, Wdas i T adm
RN, SR AN GRE) TR, TR
TCRIELEIERT, (R asEm AR (3fL) Shhh (i) ZR<5l
AR B M 7 o S T P AR R AR ZE . M SN, SRR R Tk
, FEfiRZE RIS o o RV SR ot T 2 L R BT 7= A ) e £
RZERUEN, A M, S B AT B2 il
S5, ESCHLEENIEE . BAAhAK/5: (Nm/arcmin) o

1. TAEFHAr: $RMARISGEE fEAUE i NI AUE SR i) fe e s A,

HEAETVEREIEE T, AR IR TR /NEL S5/
i (h)

12« TAEREE: $8MIRBEE AL TAERG IR T, S5 Z R
WE. BAAE (C)

13+ BUEMIAFEE: TR RERIRIEE A BRIE TAER i otk 2 e il BT
HEE15> (rpm) o

14+ WRPRAASEH : F5 RIS AR AN BRIIE TR A I BT AR 32 1Y) S e ok
o HNLAEEIS (rpm) o

15« BRI e Hih bRz 1, 7 mEE i
izk. BAAY (N)

16+ MR 7 fef R i b Rz 140 11, 5 S H e
LHEE. BN (N)

17+ REE: IRFARRESERUE RN T, Ml hESHMANEZ W,

18+ WEFE : FRIREERES AR T, ARSI AN, WL
B R A A K S A K (B BSR4 DLdB(A) o



Bitpass

beyond myself

N -
tBSBEBEHLRBREARBIRAA
Shanghai Huitong Automation Technology Development Co.,Ltd.
itk - EiEmEHEXiAEdtE441SEZEAEL6, 1584
ADD : Floor 16, 15 Jinyi Mansion, 441 He NanN.RD., Shanghai
E2iE(Tel) : 021-63570803
f&E(Fax) : 021-63570802
EBHR(E-mail) : sales@shhuitong.net
watE(Web) : http://www.shhuitong.net

201702




	封面-01
	p2-01
	p3-01
	p4-01
	p5-01
	p6-01
	p7-01
	封底-01

